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9. 1. ”0UTS’ TehaTd / cyclone RTST 2018 F Fal
v ?

A) AT

B) Theirdid

C) TaudarH

D) JUHT

9. 2. RoTd deh G@RT oAt 9T el fahcTalt $TST37T b1
ST foRaT ST &

A) 11

B) 16

Q) 17

D) eTH A Ig =Lt

9.3, 3PN AT W U geAfdar erq @sar forer
HAE, AT 58 60 km HT gl W &y, AN e AT b
e e A g ?

A) @sar

B) €

C) @i

D) SAT3T

. 4. IRTEUIS a7 H Reafa@a T T Hla @
fwar=igrg
A) IRFEATAH dTdg dTglare
B) TRTEfAe o Urpfais AT o7 eI g
C) RIS dT & gch ala g, sifas raifas
T ST
NI IGEIGEREACICE R RS ER LGN

T. 5. Aequeer faemaae diet & frder @i speer:
T ST T STeToilicl g JRTET &

A) 35:47

B) 6:4

C) 29:11

D) 47:35
9. 6. TR 20 T 31TTeh Hegefer T Tt 3uderd
HAIES gidaT e

A) TS U

B) SII.UT.4I

C) drE. 3.

D) Si.3ardr

9. 7. 3T &l BIfeT-
Fellfra &
A) THRER Bellfq - olle el
B) i g el fAT - &faar
C) Toig JTE AT BellfIT - gIRIRAT

D) HfFeaTer henfey . FUE &
. 8. gATAA ST
gt Afear
SRS - 1. gdelst

el

REIETI - 2. =y
STelcall - 3. STEHATT
IreagTq -

A) 1,2,3,4

B) 2,1,3,4

C) 2,1,4,3

D) 1,2,4,3

. 9. 31TW el HRAT T & i TY AT AT 31T 872
A) HRA facer dar
B) HRAIT WA Jar
C) HRCT gferd dar
D) HR def HaT

9. 10. Gt T GI&T dTed o g & ?

A) Seleh gleT

B) AT

C) 9

D) FeATAT
Q. 1. Fethai cyclone come in which of the country
in Dec-2018?

A) India
B) Phillipines
C) Vietnaam

D) Usa

Q. 2. In how many languages are there in an
Indian currency Printed by RBI.

A) 11
B) 16
C) 17

D) none

Q. 3. If hanumantiya Island situated at the bank
of Narmada river is in Khandwa district, than 60
km apart Sailani island will be situated at which
district of MP.?

A) Khandwa
B) Dhaar

C) Khargone
D) Jhaabua

Q. 4. Which of the following is not a feature of
Ecosystem?

A) Ecosystem is a closed system



B) Eco system uses natural resources

C) Ecosystem has components : biotic,
abiotic & energy

D) Ecosystem has a fixed area

Q. 5. How many seats are resereved for SC/ST in
MP legislative respectwely ?

A) 35:47
B) 6:4

C) 29:11
D) 47:35

Q. 6. What is the best way to measure the
economic prosperity of any nation?

A) NNP
B) GNP
C) PCl
D) GDP

Q. 7. Find the incorrect one :

FELLOWSHIP AREA
A) Chakradher fellowship - Folk arts
B) Shrikant verma fellowship - Poem

C) Rajendra prasaad mathur fellowship -Journalism

D) Muktibodh fellowship - Roopankar arts

Q. 8. Match the following?

Passes River
Jorjila -1. Satluj
Shipkila -2.Indus
Jelepla -3. Brahmputra
Yangyaap -4, Tista
A) 1,2,3,4
B) 2,1,3,4
C) 2,1,4,3
D) 1,2,4,3

Q. 9. Which of the following services do not come
under All India Service?
A) Indian Foreign service

B) Indian administrative service

C) indian police service

D) Indian forest service

Q. 10. Which part of earth is called as its security
valve ?
A) Black hole

B) Volcano
C) Earthquake

D) Tsunami

W.11 HATAT b HTEdSH H AT, AT0N U =i T
e PIT BT E?

A) S

B) QR&erH

C) ARsrer dfearar
D) gNAorHT

T, 12 ToAoTar &1 JHR U9 TAELT &l 3THR Al
qaEg ?
1A A& aca
2 7ol HTUHRT &
“A) 1@ E
B) 2WE
C) 13N 2T EE
D) 132 aEr=EE

9. 13 ALY Ho AIHR T Hlefel) HATGHN &
A) %@rmﬁ
B) USdlhe STeiiel
C) VeIl Sfelel
D) 3T ~ITATeIY T HTT wATITERT

¥. 14 gAfad hifaw
mﬁmﬁram -1 HAGHG AE
dldﬂsl%{‘l’ﬁ'{'\quleﬁ T FoYHTOT ST - 2 BIROTeTE
STETST Hgol T fAAToT -3 FAHIBEIT 28
HAroraT 7 TSI g2r T TATIAT
A) 2,1,4,3
B) 2,3,41
C) 2,4,31
D) 2,4,1,3

9. 15 &TAthel ol T1o¢ & T 98T C3IR Rorg
A) JOTIER
B) SATaTTSleT AR
C) HAH
DECICIR

9. 16 Wadwq & ded gaiwd Iy
mﬁﬁruﬁv:wqaﬁw FLThATE -




A) 136
B) 137
C) 138
D) 139

. 17 ALHEAT & ?
A) dUeT$s gRANT
B) USISH
C) Tofehler
D) eI

. 18 GiREH Sarer T HAT 3@T foh ey ST &l 78T
e

A) YTl

B) T

C) e

D) SISl

9. 19 Ife; FohelT AT & 38T HEIT I 13 IR T
F4T U 112 AT & o dg GEAT /el

A) 8

B) 9

C) 10

D) 11

9. 20 Tl He AT gIer g ?

A) drsId
B) SCIRAT
C) walr

D) YIeraii3m

9. 113 AT 9oy ST 6707 ehg; FEAT§
A)
B) HIUTel
C) lcteptdl
D) IIFS

Q. 11. Which is the centre for speech,
thinking and knowledge in human brain?

A) Cerebrum

B) Cerebelleum

C) Cerebral pedicle
D) Hypothellimus

Q. 12 Right to privacy & health are related to
which of the following?

1. directive principle of state policy
2.fundamental rights

A) 1

B) 2
C) 1&2both
D) None of above

Q. 13. Who is the legal advisor of Govt. of
MP?

A) Law minister

B) Advocate general

C) Attorny general

D) Cheif justice of HC

Q. 14. Match the following.

Mandu as capital -1 Mahmood shah

Built baj bahadur & roopmati mahal - 2 Hoshung shah

Built jahaj mahal - 3 Nasiruddin shah

Established khilji dynasty in malwa - 4 Gayasuddin khilji
A) 2,1,4,3
B) 2,3,4,1
C) 2,4,3,1
D) 2,4,1,3

Q. 15. Which is the biggest tiger reserve with
respect to area ?

A) Rannthambore
B) Naagaarjun sagar
C) Maanas

D) Baandipur

Q. 16. Which article of Indian constitution
provides for the provision of judicial review of
supreme court?

A) 136
B) 137
C) 138
D) 139

Q. 17 What is insulin?

A) Peptide harmone
B) Enzyme

C) Glucose

D) Starch



Q.18 Which of the following nation doesnot
share its border with West Bengal?

A) Nepal

B) China

C) Bhutan

D) Bangladesh

Q.19 Find the number when added to itself 13
times yields 112.

A) 8
B) 9
C) 10
D) 11

Q.20 What causes athlete foot disease?

A) Virus
B) Bacteria
C) Fungi
D) Protozoa

Q.113. Where did Indian zoological survey
centre located?

A) Dehradoon
B) Bhopaal
C) Kolkatta
D) Coimbatoor

T. 21 3R &1 G o T 8, e @ATor arws1s
&I IITR GEAT A fhar ?

A) - e deeltehr

B) STl SheTo] AT FoTrelr
Mﬁmmﬁwm

D) ST A FIS L

9. 22 GHTY <ig; S o A & IEUTS THN
TTYAT e 3R] et T 2t

A) SITUTeT SYeral T 21 3eFeer 1942
B) ﬁwwzlmwu
Q) m?raarq’ru—q'zlwwm
D) ﬁlwuan:ﬁwwm

9. 23 AT ATAT ST 8 ?

IEGICD T
A) faeg Stor &ReToT ey - (1) 22 AT
B) g fgaw -(2) 22 3%
Q) ﬂmsﬁaﬂﬁmﬁaﬁ (3) 16 3MeFeie}
D) faea Ewid RGaw -(4)8HS

. 24 goT f3eYTUT T G 37TST 3ETEI0T &7

A) B T THRAT

B) $GEElY
Q) mT:Hﬂﬁﬁh‘r
D) Hﬂ’rwﬁﬂﬁmﬁﬂfﬁ@éaﬂ

. 25 CFL& SR & FaT eI 18T & 2
A) PIFEFE FARIAT oSe
B) asﬂaf;maﬁm%aﬁmagsﬂ?%ﬁm
Q) WLED@WJ}IWW%?&T%W

FoiT T SEHTE 3T T &
D) SHHT SITSWH 8000 B Bl &

T. 26 Solh gl o T H FAT T &

A) Sﬁaﬁ’:rﬁralbcqlché‘owsdmm%sﬂﬁ
Tl 8T ST ST AT

B) 11?2019@%%@@3@?%
$r

C) SHHT 3R G ¥ 3000000 I[AT ST &

D) SHI dTIHTA qsdﬁah‘&re’lﬁT

9. 27 U ITT HEH 3 ‘iferecg2re" 2reg i 31 T
g 2

" 3HHT ATofeh iYL Helg @rqsd 37 It
TUT TG Y Tl TET T THT &1 "

A) R FT &S aRT

B) U fohcite 31X Uah g&dtdor

C) s & gy

D) cafFd &1 AATEF T F FAR 2T

9. 28 USH foiof fhaen Sisar&?
A) TATST Flell A TG SATHAT
B) EIINShIST TG cTelATHeAY T
C) HRETH Td e[y T A
D) ALAH T Sora Heol K HT

9. 29 GATAT LT & -
 qiver FEuT EiC)
A) RT3 - (1) FAT
B) HRAT UcIferad - (2) & el
C) @y Yigafahr - (3) AR

N



D) G FeTEUT ITHETH - (4) THAS

9. 30 AT fd & & i I8 HITTT & dgd oer
3TATE ?

A) ISEIT ATAAIIRR TANET

B) mmqﬁﬁamw

Q) a'_uél?:l Hraquls

D) STVTS IEUREIHT & IIF

Q. 21 “Onir” which was created by IITR
Lucknow is related to.?

A) E-waste disposal technique

B) Anti-water bodies system

C) Industrial waste disposal system
D) None

Q. 22 Where and when did Subhas chandra
Bose established India’s first non-permanent
Government ?

A) Japan Tokyo, 21 oct 1942
B) Singapore, 21 oct 1942
C) Japaan tokyo, 21 oct 1943
D) Singapore, 21 oct 1943

Q. 23 Which of the following is not matched
correctly ?

Day Date
A) World Water Conservation Day -22 March
B) Earth Day - 22 April
C) National Technology Day -16 Oct
D) World Redcross Day - 8 May

Q. 24. Which is the best example of
dispersion of light?

A) Twinkling of diamonds
B) Rainbow

C) Miraage

D) Twinkling of stars

Q. 25. Which of the following is not correct
about CFL?

A) Its Compact Florescent Light

B) It consists lead and nickel but not
mercury

C) It give less light than LED but takes
more power.

D) lIts life is 8000 hours

Q. 26 Which of the following is correct about
Black Hole ?

A) It has more gravity, even light can not
come out of it.

B) On 11 april 2019, first pic of black hole
is take

C) Its size is 3000000 bigger than earth

D) It has very low temperature.

Q. 27 In the given context, identify the
meaning of the word 'Constitution'.

"His delicate constitution could not withstand
the high heat and humidity in Mumbai."

A) Physical character of the body
B) A book or a document

C) Set of rules

D) Mental makeup of a person

Q. 28 Adams bridge connects between?

A) Point Kaali mere & Jafna

B) Dhanuskondi & Talaiya Mannar
C) Raameshverm & Dhanushkondi

D) Raameshverm & Talaiya Mannar

Q. 29 Which of the following is not matched
correctly ?

Research center place

A) National dairy (1) Karnaal

B) Indian petroleum (2) New delhi

C) Food technology (3) Mysore

D) Central vegetation (4) Lucknow
research institute

Q. 30 Which of the following does not come
under Home ministry?



A) NHRC

B) Inter state council and regional councils
C) CBlI

D) Commision for language minority.

&R .- (M . 31 ¥ 34) A=ART At & 39w
o1 & T & =iy SRRt & qfe|
A,B,C,D,E,F,G,H 3R 1aATeR & C, B ¥ 2 fFAT
AEIA, B fFaA saxATTAr H, A ¥2 fFaAL
cRUTHAEI G, Y1 A aREA A EFefF D, G
3P @ AT ARF, G T2 Bl 3T o,
BICHIh AT A RUTEFAGFE, HTID FEF
Ay H AT

9. 31 ET G & o< & gt greft

A) 2 fRa.
B) 1fm.aT.
C) 1.5
D) 5 AT

9. 32 ET | & S g gl
A) 1Tk
B) 2fh.#T
) 3T
D) 4 kAT

9. 33 AT F & st hrgdr gran
A) 1.41 %N
B) 1.
C) 2fha
D) 3Tk

Y. 34 E T C & o< T g gt
A) 1.41 TR
B) 1fr.aT.
C) 2 TR
D) 1.45 fR.AT.

9. 35 A STASTTd bushmen tribe %Tﬁlﬁm
T &

A) 3TCTHIAT ASEL

B) TN ohl HEETU

C) NS T HIETST

D) HERT I ASEA

9. 36 T faTaeT 3TATeT 3aRer -
1 99Id 9719 & fow
2 mﬁtﬁmw$%v
3 {IJQHH-IIHC\{-QIa?tIrIId & T
4 %ﬁnmﬁwﬂma;m
A) 1,23R3
B) 1,234
C) 13iR2

D) 1,2,33T4

. 37 AT hIfSTT
)03 aar
37T 37T g1 1 31T
qQEcTolT a1 - 2 B
Jesurd - 3 gfaoT 3nhYeT
339 U9 4 3TECTOrRT

A) 1,2,3,4

B) 2,1,3,4

C) 2,1,4,3

D) 4,3,2,1

9. 38 gATd ST

Thard gear
HYTS ThdTd 1Tl , haflceh, IR
ITSIT TshdTd zam%;arr gf¥ae S9Tmer
T gshard - 3 3T UG Afsem
fade ashard - 4 dfReTg

A) 3,4,1,2

B) 1,2,3,4

C) 4,3,2,1

D) 1,3,2,4

9. 39 3Rl # 2019 & iIeh sabha YeATd Fef fehetel
WUTHET?

A) 5

B) 6

c) 7

D) 8
Directions (Question Nos. 31 to 34) : study
the information given below carefully and
answer the questions.

A,B,C,D,E, F, G, H and I are nine houses.
C is 2 km east of B. A is 1 km north of B
and H is 2 km south of A. G is 1 km west of
H while D is 3 km east of G and F is 2 km
north of G. L is situated just in the middle of
B and C while E is just in the middle of H
and D.

Q. 31. The distance between E and G is -

A) A2km
B) B 1km
C) C1.5km
D) D5 km

Q. 32. The distance between E and | is

A) 1km
B) 2 km



C) 3km
D) 4 km

Q. 33. The distance between A and F is -

A) 1.14 km
B) 1km
C) 2km
D) 3 km

Q. 34. The distance between E and C is -

A) 1.41 km
B) 1km
C) 2km
D) 1.45km

Q. 35. What is the habitat of bushman tribe

A) Atakama desert
B) Kalahaari desert
C) Gobi desert

D) Sahara desert

Q.36 State election commision is responsible
for -

1 .Panchayat elections

2 .Urban bodies election

3 .Election for rajya sabha menbers
4 Legislative council elections

A) 1,23
B) 1,2, 4
C) 1,2

D) 1,2, 3,4

Q.37 Match the following

Grass Country
Alfa alfa -—-- 1 Argentina
Pustja --- 2 Hungry
Veld ---- 3 south Africa

Downs 4 Australia

A) 1,2,3,4

B) 2,1,3,4
C) 2,1,4,3
D) 4,3,2,1

7 7 7

Q. 38 Match the following:

Cyclone State
Phethai ---- 1- keral, Karnatak, Gujraat
Gaja ---- 2 Orrisa, West bengal
Ockhi  ---- 3 Andhra Pradesh , Orrisa
Titli ---- 4 Tamil nadu

A) 3,4,1,2

B) 1,2,3,4

C) 4,3,2,1

D) 1,3,2,4

Q. 39 The Lok Sabha Election of 2019 in India
was held in how many phases?

A) 5

B) 6

C) 7

D) 8

51, 40 & 7 T 1 o oY WY TR ey @

-
5@ E

(A) (B) 1S (D)

T. 41 ferav R A oy 3ot & »

A) 10
B) 11
c) 13
D) 15

9. 42 TR, FAR & GreTel &1 Teh 9 § A g w81 8
Y. AR S T & & 31 AR effer = &) 31 .



FAN & grerst &1 difaat 3 oiat it wer g,
ShHT:

A) 2,3

B) 2,4

Q) 3,3

D) 4,2

9. 43 R Yol H AT TIFA AT S ?
1 35 HISNTs ST TN 8T &
2 I8 Ueh YohK &l GITA T SIS &
A) al¥Eg
B) b2Tdrg
C) c13R2cTTEE
D) d13R 2T Tgr=lgrg

9. 44 il GATAT AL & ?
&r

Hcol
A) SuTel afSey g
B) STUT SRIC
C) SEeeer ST T
D) 3THIMTAEATT qac
9. 45 ATTH e oh 3TITaT SITRAT & fohd 91T H DNA
gl &7 .
A) HATSCIhISAT
B) SHIAITARC
C) T
D) A3RB
T. 46 A A T HIT T AT ITIT 8?2
T TH.UA.T.
A) TAIG - 90
B) TASIRH - 40
C) TSTEUTA - 200
D) 3TXUTIT WeeT - 45

qo47§ﬁarmaﬁr;hﬁﬁmﬁm3®ﬁuﬂ
o @RI 1] fomam arm?

A) A sifarfas 1773

B) TUcH ua< 1784

C) TreT ATAfATA 1813

D) #Rd R 3fafags 1858

T. 48 o I T H fohdey 99T 3ufUa § ?

A) 13
B) 14
C) 15

D) 16

Q. 40. Choose the correct Mirror image of the

following image.
— ! :I':[_Cl Q]:'F

(A) (B) (€) (D)

Q. 41. How many squares are there in the
following figure ?

A) 10
B) 11
C) 13
D) 15

Q. 42 Mr Kumar's paternal grandfather has
one son and no daughter. Mr Kumar's
daughter has to paternal aunts and three
paternal uncles. Therefore, Mr. Kumar's
paternal grandfather has what numbers of

Grand daughters and grandsons respectively
?

A) 2,3
B) 2,4
C) 3,3
D) 4,2

Q. 43 What is used in solar cells ?
1. CGM is used in it.
2. it’s a type of junction diode.

A) 1is correct
B) 2is correct
C) 1&2 both correct



D) 1 & 2 both are incorrect

Q. 44 which of the following is not matched
correctly?

Nation House

A) Nepal National Panchayat
B) Japan Diet

C) Bangladesh Jaatiya Sansad

D) Afganistan Sansad

Q. 45 Apart from nucleus ,which is the other
part of cell consist DNA?

A) Mitocondria

B) Chromoplast

C) Lysosome

D) A&B

Q. 46 Which of the following is not correct.?

State Total MLA
A) Chattishgarh - 90
B) mizoram - 40
C) Rajesthan - 200

D) Arunachal Pradesh- 45

Q. 47 The policy of free trade get enforced in
India under which act?

A) Regulating act 1773

B) Pitts india act 1784

C) Charter act 1813

D) Act of 1858

Q. 48 How many squares are present in the
following figure ?

A) 13
B) 14
C) 15
D) 16

fA&er (99 F. 49 31K 50) : s few ot 9 R 3ikk
daifesr &I YT hifaw gAr
fAafaf@d weal & v afen-

TS 6 T ¥ aRIeT & R (A 3R )
CaRT U |TY Jd) 5 FHRI I F&1, a5 [T 7
faaRor ufderd & &9 & gefig g & | < a1 R A
%ol HEAT 1500 § | B FEAT & 37e] Suel A 3R

FYsil B GaNT ST ShiHeh 3HeTdTT ATferehr
H fe@rar arar
Ju

Month Ratio (A : B)

January 8:7

February 1:2

March 3:2

April 7:5

May 7:8

June 7:9

. 49. HYAT GART STeTad & GNIeT S
TET ST Y6l GaRT ol & GIeT ol
FET T AT el STharre & 2

A) 75%

B) 90%

C) 130%

D) 160%

9. 50. BaRT 3R ATT Y A HIAT B gaRT Hir
91 SR T ool HEIT FATE ?

A) 370

B) 210

C) 150

D) 110
9. 51 3T &F {3 & 1 A F I FT @ g1 3TTh
feehe & goff 3R, T &Y. I1eAr Teg gl o Feufa &
IRETOT' § 1 ST feehe oiaTeh 31Telm &, &Y 31oehl e
3T &Y 21 OX et ANTAIE e R g & TS |
3T FITHEN ?

A) T &ol I TSI greT ST feh AT oIl &

IS R T
IS HRT



B) EH Cel ol HeAT hidl 3N 3=t Jrafed et
T S&HT ITAT T |

C) IMAGT Pl YFHPT GhT 3oTehl ATARIZT T
TSRS Feall T ofaT |

D) 39« U&h AT & S {o0d H T R
g, I FLT 3R 38 ganT feave et &
R S g7 & ¥ ¢ & fow

FHgerdardar)
9.52 Hifere 31f0eR 3gafAfa & reaer & 2
A) H.C.HGSI
B) K.M. M
C) JV. U
D) . ATl A%
9. 53 gAfeId Ffsre
Shiforar 3cq1esT
ST hifcl 1- HGTY
A Fifd 2- AT ST aRAST=T
A HIfd 3- el
et sifa 4- TSI
A) 1,3,2,4
B) 4,2,3,1
C) 4,3,2,1
D) 1,2,3,4

9. 54 SehlollTaTehol Pe T T HehoUstT fohdl o1 EI?
A) dco
B) fa=geT
) Rfomadg
D) faferas

Directions question number 49 and 50 study the
following pie chart and table carefully to answer
the questions given below.

The pie chart shows percentage wise
distribution of the number of cars sold by two
distributors (A and B) together during first six
months. The total number of cars sold is 1500.
The table shows the respective ratio between the
number of cars sold mpany A and company
B during six m

Month Ratio (A : B)
January 8:7
February 1:2
March 3:2
April 7:5
May 7:8
June 7:9

Q. 49 The number of cars sold by company A
during January is approximately what percent
of the number of cars sold during June by the
same company ?

A) 75%

B) 90%

C) 130%

D) 160%

Q. 50. What is the total number of cars sold
by company B during February and March
together ?

A) 370

B) 210

C) 150

D) 110

Q. 51. You and two of your friends are
travelling by train. Your ticket status is RAC,
i.e., reservation against cancellation. When
the ticket checker comes, he agreed to give
you three berths if you give him a bribe. What
will you do ?

A) Agreed to give the bribe since it is a
long journey

B) Refused to give the bribe and travel
sitting in your allotted seats.

C) Forcibly occupy the births by
threatening the occupants

D) Call your friend who is an officer in the
Railways to ask the ticket checker to
give you berths anyways, without
paying the bribe.

Q. 52 Who is the chairman of fundamental
rights committe ?



A) H.C. mukerjee
B) K.M. Munshi

C) J.V. kriplaani

D) J.L. Nehru

Q. 53. Match the following:

Revolution Production
Black 1- Spicies
Golden 2-River connecting program
Amrit 3- Fruits
Badaami 4- Biodesiel
A) 1,3,2,4
B) 4,2,3,1
C) 4,3,2,1
D) 1,2,3,4

Q. 54. Who give the concept of ecological
foot print?

A) Bettan
B) Winson
C) William rees
D) Willian faith

.55 AT 192 T H T @ IIU R | 3T TR
FTHTT DT 3 T4 F T & v, QT 4 FT I &7
i1 AT EIR?

O —+ =
—| O] |=
1 + — A
A O - -
- A o ) O
9. 56. hic AT 61 o- (1857 T hifc & Foasl H)
A) dicar efver - TGN
B) T3Med WIA -Hg
C) G IHAA -9
D) 27T QATE - 3¢ ASSlT
. 57. AT hIfery

A) ma@ 1) SeATST

B) I3sT 2) Thlcals
C) SawEfer  3)FT
D) S&EdieT 4)guHT.
3“'7(':: AB CD

A) 1 2 3 4

B) 1 2 4 3

C) 2 1 3 4

D) 2 1 4 3

9. 58 HSoT 31T T ITSeT e §3TT ?
A) 1977 >
B) 1978
C) 1979
D) 1980

. 59 LED & & 31 T FET Ter & ?

A) ose ufAfder sre
B) Ig Uch WY SIS & AT HHIhadel [3arsd &
C) LED Sod &1 dT8%h ATHIAAT 50,000€¢ &Il

D) =¥ f3ared & yRT Hrarsy 5w g

9.60K, L, Mﬁ?NWW%umﬁKWaﬁ%
T G AT A8 M T 3178k SeTdlel & TR 3
3 T F8T AL LMY AN A 578 W K Iraar M &
e KL & 3T aAdreT & WN@H@EFH‘@MW
ATt Y AT maﬂnﬁn@w IR he H
S YRR cgaTeud [T I AehelT &

A) NMLK, LNKM

B) NLMK, LKNM

C) NLMK, KLNM

D) LNMK, LKNM

;rg 61 FEY YT T TG 30T UG Giatol foterr shiet ar
?

A) YT T T3dTA

B) :H’lmuaaww

Q) %Wuaa'@?m

D) mww

. 62 ALV H TS el SATQAT Sl Fiaerd
rafaaag?

A) 3RS

B) FTS3M

Q) ‘ETIT

D) §sdl=ir

T. 63 faIAT Tl T FFaET§ ?
A) ST
B) oig fafaurara
C) Siefary qRade &
D) FAH



Q. 59. Which of the following is not correct
about LED?

A) ltis light emitting diode
B) Itsis a junction diode or semi
conductor device

Q. 55. There is a specific relation between
figures 1 and 2. For establishing the similar
relationship between figure 3 and 4, identify

the right one for figure 4. C) The life of a LED buld is 50000 hours
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Q. 56. Which is not correctly matched in
context of revolt of 18577

A) Tantya bheel -  khargone
B) Saadaat khan - Mahu

C) Shekh ramjaan Sehore

D) Shankarshah - Gad mandla

Q. 57. Match the following?

A ) Ice hockey 1) Canada
B ) Rugby 2) Scotland
C ) Bull fighting 3) Spain
D )Baseball 4) USA
A B C D

A) 1 2 3 4

B) 1 2 4 3

c) 2 1 3 4

D) 2 1 4 3

Q. 58. When was Mandal Commission was
constituted ?

A) 1977
B) 1978
C) 1979
D) 1980

D) This device is filled with mercury
vapours

Q.60. K, L, M and N are four persons. K is the

oldest but not the poorest, M is the richest
but not the oldest, L is the older then N but
not then K or M. K is richer than L but not
then N. The four persons can be ordered
(ascending), in respect of age and richness,
respectively as

A) NMLK, LNKM
B) NLMK, LKNM
C) NLMK, KLNM
D) LNMK, LKNM

Q. 61. Which is the northern most and
southern most district of MP?

A) Shyopur — badwaani
B) Murrena — Burhaanpur
C) Shyopur- burhaanpur
D) Murrena — baalaghat

Q. 62. which district of Mp has most tribal
population in %?

A) Aliraajpur
B) Jhabua
C) Dhar

D) Badwani

Q. 63. Vienna summit is related to ...?

A) Ozone

B) Bio diversity
C) Climate change
D) Energy

O Q10

9. 64.




o[Ccl 9T el AT E?

JOlFo [

9. 65 ATaT & el v ol IgdIaIv
(a) STH® I TG & TorT fRETT|
(b) 1/2 TeRciaITe 31Te] T 3eTelel|
(c) SATST =l TolelT AR 38 & 3HTe] fAeITeT
(d) 39T T e[ T Blefell 3R 3¢ BIC-BIC gohsl
#Hprea
(e) ST T I aT 3R 3HHA AGTSAT TUT AT &
Ths el |
A) (a), (b), (c), (d), (e)
B) (a), (c), (d), (e), (b)
C) (d), (b), (a), (c), (e)
D) (b), (d), (e), (c), (a)

-0

9. 66 [oTehT arERY T THG 2018 H AR & hg ToT
e

A) Il

B) UP

C) TSTEUA

D) ISRId

. 67 FIMMecR 3TTHH T TATIAT T I -
A) HAGH
B) TeT HIFAETI USA
C) Wecsl
D) YIfUs<RY
9. 68 HTSA qEITe
a) TSI A (1)
b) TRl (2) S¥ar
¢) AT =Ty (3) A=
d) CTBT (4) 9T
A) abcd
B) cbad
C) bdac
D) bcad

9. 69 fohdT SAITSIT YUITT H GODREJ T KFSEPH for@r
SITAT & S Y@ ehl YUTTell # RED i fol@T ST

A) EPH

B) ESF

C) SFE

D) EFS

9. 70 AR o A Hcges shddl fatedd 4 faer
IR & fav Gar Srar g1 e ofl, gAR S T
3merfeleh FATST A, FoTT Sl 3 TAUT ol HHTCH it
fo? T IRER AT 387 § 39 & 7 7T d& &
YR I 92T & T gTel &7 & 9gd § aRIF ¥ sgahr
Wmﬁmwggmm—qﬁ’c T

A) Hcges IR el g o . .

B) éﬁgﬁsﬂﬁa?rﬁa?émdnaﬁchqsﬁm

SIGIH

C) 319 haol §HR oM A FHcFes feam ST g

D) S T Y ST § hY HES, Tl &t T
Teh 3T S

q. 71 TIAT glehy ATg@ e 2018 & 9 3k v
TS T TPl & A Fasiar el femar ara 2

A) ST

B) TG

C) U

D) Urfehedret

Q. 64.
Which is the missing square ?

O[O || O o

(A) (B) (C) (D)

T

Q. 65. Choose the option indicating the
correct sequence of the following sentences.

(a) add salt to taste.
(b) Boil 1/2 kg of potatoes.
(c) Fry onions and add the potatoes.

(d) Peel the boiled potatoes and chop them
into small pieces.

(e) Heat the oil and add the spices and onions
to it.

A) (a), (b), (c), (d), (e)



B) (a), (c), (d), (e), (b)
C) (d), (b), (a), (c), (e)
D) (b), (d), (e), (c), (a)

Q. 66.Zika virus effected which state in 20187

A) Kerela

B) UP

C) Rajasthan
D) Gujraat

Q. 67. Yugaantar ashram get established at :
A) Madras
B) San frasisco
C) London
D) Pondechery

Q. 68 Match the following

Organisation Headquater
a) ILO (1) Hague
b) UNESCO (2) Gineva
c) IC) (3) vienna
d) CTBT (4) paris

A) abcd

B) cbad

C) bdac

D) bcad

Q. 69 In a coding system, GODREJ is written
as KFSEPH. In such a coding system , RED will
be written as

A) EPH
B) ESF
C) SFE
D) EFS

Q. 70 Death penalty is given only in rarest of
rare crimes in our country. Even then, there is
strong demand of of scrapping this mode of
punishment in a modern society like ours. The
main argument in this direction is based on

the fact that several countries have scrapped
it recently. This implies that —

A) Death penalty does not exit elsewhere

B) Many People get death penalty every
year in our country

C) Only our country awards death penalty
now

D) Many people feel that death penalty is
not a good method of punishment

Q. 71 Who is the joint winner with India at
Asian hockey champions trophy 2018 ?

A) Japaan

B) Baangladesh
C) Iran

D) Pakistan

T, 72. 3Tciid H, STHIFAT 2TIG &1 hadT forar
JMSHShTH T gehleT H STt & R e T arely
JTSHHIH FT ATE S & | AR 31TST Tg ST T8l 51
Teh §GdT g5 TATELY oh Ui STRRRehdT 3R 38 A1y
& T3ty Ao} 3 Tarfese For T arel aEgt A
31T TG T GIAT o, JTSHHIH Gehlel Hifelenl
foIT, heT a7 ATl ISTRIF FI T g8 &7
TGS T T AT T N

S IeTTG T HaH 1Tk FHLT et dTell HU §-

A) H THT I HTSHHIH, ghleT AT & foT
37T AT IS &

B) 3Tciid & I 98d ITeITcHS &

C) 319 UAEF 9gd dTATCHF &

D) 31d UTgeh TS 1 URATE 7T iy

.73 LIl JTaoted] &l & 36T & ?

A) TATAROT &TUT ST SATTeRTRT STaTTeT

B) TICIol olTeeh ShUT T TETTeT el

C) TINGROT & &F & ATeTd Y TETIdT FIAT
D) ST @ IS e

9. 74 R & HEI: TohE FehR hT IS ITS STl &
A) ITIET IS
B) faATqaT I Qe
) TRdreEr
D) ST & I T

9. 75 LTS A el a1 s fradht #fa &
TATIAT SATIET 872



A) SlcITel 3UTEAT

B) Sleel HIFRIT 395
c) IMdgarreaR

D) A AT AHAT

9. 76 FO RYATS! &eTdleT g1l & 1| $T THAST BI &
SHET dTeTd Ig & -

A) TS AR W geTar 3R gA @ &
B) TS 3mH dt W e 3R arr @y &
0 %‘F@Tﬂs"r@r ST IHSI g1 & TTe 98 UsTdTel 3rar
D) Fo WITST &eaTet g1t & olfehed TSN o6l

9. 77 Aeaf@a A A pla agraAgr a7
A) FET U2 T HRA T 56T U6l Ud APR HI
B) UTHASIHI @S - BRIAY
Q) mwcraerasﬁfi‘rw — GARHTIHG
D) HeT Ter ¥ e aqaaqﬁr

T 7814?3@?@%0
ERY 31Tt TeTaRRHT - 1. i g

grex A 3T 3T - 2. GolH el
g3 #7371 33T - 3. #ATgH Ul
TISIR AT 3iTw sf3ar 4. AT TGl

A) 3.1.2.4
B) 1.2.3.4
C) 4.3.2.1
D) 1.4.3.2

9. 79. U ollehel oo T A Y G gldT § ; as
wéﬁﬁﬂﬁmaﬁa’raﬁrmwuﬁu’raﬁr
T I 3l ¥ 3T e W10 TR AT
3T ¥ 3R AT § aAr 5 Afen A & F TG
STl 8, o9 99 AT ud Afger anf3gr &
TEAT THEATT @ A ¥ T AT Rraer ard
o H YA gT A?

A) 15

B) 30

C) 36

D) 45

Q. 72. In the past, consumers would rarely
walk into an ice cream store and order low-
fat ice cream. But that is not the case today.
An increasing health consciousness combined
with a much bigger selection of tasty low-fat
items in all categories has made low-fat ice

cream a very profitable item for ice cream
store owners.

The statement that best supports this
paragraph is -

A) Low fat ice cream is more profitable to
the store owner

B) Customers were very selective in the
past

C) Customers are very selective now

D) Customers do not worry about the
taste now

Q. 73. What is the main objective of Neutrino
observatory?

A) To gather information about
environmental erosion.

B) To study about the neutrino particle.

C) To help humans in the area of
environment.

D) None

Q.74. What kind of poverty is mainly found in
india.?

A) Relative poverty

B) Non-Relative poverty
C) A & B both

D) None

Q. 75. the Mil Bacho program of Mp govt. was
in the memory of whom?

A) Deendayal Upadhyay
B) Dr. Bhimrao Ambedkar
C) Ravindra Nath Tagore
D) Shankar Dayal Sharma

Q.76 Some sports persons are rich, some are
arrogant this imply that -

A) Sports persons are are generally rich
and arrogant

B) Sports persons are generally poor and
arrogant



C) All sports persons are arrogant
inrespective of weather they are rich
or poor.

D) There are some sports persons who
are rich, but not arrogan

Q.77. Which of the following is not correct?

A) Called Mp as heart of india & sagar as
Switzerland of india - JLNehru

B) Discovery of pachmadi - Forshith

C) Law man of Mp -Dwarika Prasaad

D) Milton Of MP - Bhavbhuti

Q.78. Match the following :
Hero of environment -1 Rajendra Singh

Water men of india -2 Salim Ali

Bird man of india - 3 Mike Pandey

Tiger man of india - 4 Kailash Saankhla

A) 3.1.2.4
B) 1.2.3.4
C) 4.3.2.1
D) 1.4.3.2

Q.79. In a local train starting from station A,
the number of female passengers is half the
number of male passengers. At the next
station, 10 male passengers leave the train
and 5 female passengers board the train,
which makes the number of male and female
passengers equal. How many passengers
entered the local train at station A?

A) 15
B) 30
C) 36
D) 45

T. 80 Teh HToll of 3TTel ITAATHR §19T H 3H ThR
IRaciT fohaT- TIETS T 40% TCTAT 2T TISTS Fl 20%
SGTIT | 7T ST &l &TThel

A) 12% ©€ 3T

B) 20% ©€ T

C) 28% ©E IrAT

D) YN &Il & ool SRR &

. 81 Sid TATIErdT gleTdic & IR & FIT e 18l &2
A) T &Y 60% &1 3 UTS ST &
B) BICTUIC TsE I AATUH TN ARHT HIX o
forar ar
C) AR H ST GEAT4E
D) 3H &9 HHH A HH 1000 FSTIA gledl
AIET UG SAH T 25% TSI TheIEd &

goszﬂgmwmﬁaﬁra?ﬁmﬁwaﬁmaﬁ
P)
ICICABED 2 A
3 3meaTieHess 4 Hifae
A) 2,3,4
B) 1,34
Q) 1,2,4
D) 1,2,3,4

9. 83. [aWH U &1 gdT el@emsu
A) D22R
B) G29M
C) T36P
D) V24B

. 84 TR T VAT T I § ST 9, TSR,
HeTeT Ud Soers, IRT &1t 7 e g?

A) 3T 9Ser

B) 3ff3am

C) ufegs e

D) dffeeg

9. 85 WIAC A hl TATIAT forget hr oY

q. 86 F.9. H IsgU el ATHT e ofdT ?
1.1977 2.19803.1982 4.1992

A) 2,4

B) 1,2,3

Q) 1,34

D) 1,2,4

9. 87. QATH 3TTTT1H U ATRI S W § Teh
3TATATH FT HTHAT & 70 & TAT T ATRI S Pl T
50 § e ATH Fel © 380 T el & il 3 Feheted
AT WIS, ?

A) 2

B) 3

Q) 4

D) 3f/&hsT 3TATCA &

9. 88 CBI fohg HIToIT & 31l § ?
A) I8 HAT
B) ahITHeh HATIT




C) &I H AT
NREEEEIGE]

T. 89. €T H :: o ST HTIT o 37 SIS Al ¢ [QT|
SHH Ueh fATRed Haier § 1 S HaE & IeTHR, alfgetl
R H o SIS H T 3Heh FIT glell AT ?

A) 6:42::9:7

B) 99

C) 54

D) 36
39gerd & A IS g

Q.80. A gardener has made changes to his
existing rectangular Garden by decreasing its
length by 40% and increasing its width by 20%
the area of the new Garden is ?

A) Has decreased by 12%
B) Has decreased by 20%
C) Has decreased by 28%
D) Is exactly same as the old area

Q.81. Which of the following is not correct
about bio diversity hot spot?

A) It consist 60 % area of world.

B) Word hotspot was first used by
Normon Mayer

C) Inindiaits number is 4.

D) In this area at least 1000 species
should be there out of which 25 %
should be endangered

Q. 82. What type of development is bring by
fundamental rights in person?
1. Intelluctual 2. Moral

3. Spiritual 4. Physical

A) 2,3,4
B) 1,3,4
C) 1,2,4
D) 1,2,3,4

Q.83. Find the odd one out.
A) D22R
B) G29M
C) T36P
D) V24B

Q. 84. Which is the only state of India that
spreads in all four l,e hill, plateau, plain and
delta ?

A) Andhra Pradesh
B) Orrisa

C) West Bengal

D) Tamil Nadu

Q.85. Who established khandesh ?

A) Firozshah Tuglaq

B) Malik Ahmed Faarukhi

C) Malik Mohammad Faarukhi
D) Asharam Ahir

Q.86. MP was under President rule in ...?
1.1977 2.1980 3.1982 4.1992

A) 2,4

B) 1,23
C) 1,3,4
D) 1,2,4

Q. 87. Shyam buys pineapple and coconuts. A
pineapple cost Rs. 70 and coconut cost Rs. 50.
If Shyam spends a total amount of Rs.380,
how many pineapples does he purchase ?

A) 2

B) 3

C) 4

D) Data is insufficient

Q. 88 CBI work under which ministry?

A) Home ministry

B) Personnel ministry
C) Defence ministry
D) Finance ministry

Q. 89. Carefully observe the pair of numbers
to the left part of :: which has certain
relationship. Using the same relationship,
what should be the missing number of the
pair on the right side ?



6:42::9:7

A) 99
B) 54
C) 36
D) None of the above

9. 90 Ife PALE T Hohcl 7865 & 31T EARTH T Hohel
58432 &, A9 ALERT T Hohd 81917 ?

A) 84543

B) 86743

C) 86543

D) 86453

T. 91. IeT HGIcHd TCATg he FHATIT ST &
A) 173
B) 1-7H
C) 17

D) 1-7 3¥d

9. 92. TarSTel 3 o1l 31TeT ! J3ATeT & T fover 3 ar
JINRT Xl &

A) IeeT SCTFARISS

B) urAfeelaT

C) SoileT

D) I SBAHTFATSS

9. 93 GTaTUT ]9 UX Ug el aTell YUH R i A?
A) 21 TSE ST HITAH
B) ﬁﬁlﬁﬂ%
C) ST .TsT UH.SNETT
D) eTH A IS =Lt

9. 94 $TCT T TeiIelcTd Td HiAHA (artificial) S&Iamg
port%’

A) HISelT

B) faremardcesa

C) hlcfehrdr

D) deeis

. 95. “UIY “FATE ?
A) Tdg 8 Idg fAase
B) Hedl ¥l Ihe
C) IREY I

D) TIGHTHC hRAT gid
T. 96 FIAAdY I+ H HIH e 3H H Ies A
YT et dTel T lTar hiet &

A) 37Tl sTaTell

B) TS TRy

C) THT daX

D) Hef HTT

T.97 3T 5 THATS T o SR H FIT el TgT & ?
A) 10 GHFSR 2018 H TAE ¥ TG W AR el
arell fAaTSer 31137 5 &1 TeYqoT fohar arar
B) Helld AT H AGTSel ollaX & FaT90T fohar
T
C) IE STPT 6T TIETUT AT
D) I oIl gt Y fAdTSeT &

T. 98 A@IAR JCT TTH ___ o TR ol ATCIH glell
BlIRYE

A) STl Hfd

B) HidHHA

C) AAYAR

D) =3I Ud et

T. 99. fEUTT a1y F 'S’ 2eg T 37 FIAT BIaT?
"ITTOTCT T FRYETT UTed et | 39T dTfcheh Ua
fIReIYUTTcHS Sierel & iy 3T g 1"

A) eRTelT T

B) SgcX T HRUT glaT

C) Hege e Sela

D) WdRaATeh Salall

9. 100 STEhcdTd & W § gt 10 ey A s a1
Teh GEX H Ueh R g1 fAeIA 8 9 feohelel aR &8
AT g

A) 20

B) 45

C) 55

D) 90

Q. 90. If PALE is coded as 7865 and EARTH as
58432, then ALERT is coded as

A) 84543
B) 86743
C) 86543
D) 86453

Q.91 When did van mahotsav week get
celebrated?



A) 1-7 june
B) 1-7 may
C) 1-7 july
D) 1-7 august

Q.92. Which gas is used to stop fire in
electricity?

A) Carbon tetrachloride

B) Acitelene

C) Benzene

D) Carbondioxide

Q.93. Who was first Indian to reach south
pole ?

A) Dr.saeed jahur kasim

B) Dr.giriraj sirohi

C) Dr. N. M. Lohaani

D) None

Q.94. Which the following is the oldest
aritificial port of india ?

A) Kandla
B) Vishakhapattanm
C) Kolkatta
D) Chennai

Q.95. What is DHANUSH?

A) Surface to surface missile

B) Multi barrel rocket launcher
C) Artillary gun

D) Airchraft carrier warship

Q.96. Who is the youngest player under the
following to win the gold medal in common
wealth games ?

A) Anish bhanwaala

B) Saurabh chowdhary
C) Naman tavar

D) Manu bhakar

Q.97. Which of the following is not correct
about Agni 5?

A) Agni missile (surface to surface) was
launched on 10 dec 18.

B) It get launched through a mobile
launcher at kalam island

C) This was its 6th experiment.

D) Its a long distance missile.

Q.98. Newspaper should ideally be a medium
of Communication of

A) Rumour

B) Paranoia

C) Propaganda

D) information and facts

Q.99. In the following sentence, identify the
meaning of the word 'sharpens'.

A) Makes pointed

B) Causes to improve

C) Makes dull

D) Makes dangerous

Q.100. In a basketball match, all 10 players
shake hands with each other once after the
match. How many handshakes will be there ?

A) 20
B) 45
C) 55
D) 90

9.101 ‘ {RT ARAAT & fw’ Ig ART fordey fear a7
A) SEH HATS
B) T GHTST
C) I AT
D) 3MfE SiEH FATST

T.102 3URTET 37=aWOT feITaT <hY TATIAT fohd a1k

9. 103 &I T &l 3eHolel TeleTell GarT fohd
aamuaaa—srﬁn—mwm



A) arg gT e srfRfager v ua 1843

B) &rd wT fAver 3{fT# vi va 1843

C) &g 9T vy V Uq 1833

D) &r® w2r faver afafaas vi vd 1833
W.104 THE & Aol Teell hl e JSeh T JTTeTe]
el & GigersT @ foraraarg? ~

A) JTHET

B) SRTE

C) 3irecforar

X

D) fereet

T.105 FHolTH A€ 39IE satellite T fFATT g o
fohar I ?

A) 3HU

B) DRDO
C) TRIA
D) BT Gl ol

9. 106 TAGH I TSTAE fohfeh GOR H Hia
A) AR Y
B) EIGCREK)
Wﬂfraar
D) el aer

9. 107 BTl & H ST T 315 Tella el gIR 359 RUIC
2018 F HR I il AT TUT fHAT G ?

A) 71

B) 96

C) 103

D) 115

W, 108 I o Tehdl 3T F #el HTHRT T &1
2

S

A) 1930
B) 1931
C) 1932
D) 1933

9. 109 8Tl T FH T Yol —Gseh A slafeirer foh
STESTS TohclelT & T foheT ToTel ol SiiScll & 2

A) 3.94 km, 351G - AT

B) 4.94 km, TSsaTe — AT

C) 5.94km, TS — AR

D) 2.94 km, €T - a’R%‘cr

9110 3THISS ATl I fhdal HITel 6 IR ST ?
A) USSR
B) NASA
C) EU
D) ISRO

g;oal}ll 2018 # IMANfIT PIHAFTACY NH W fh g e
A) 20
B) 21
C) 22
D) 23

T. 112 AT GIFTeT & TAAIUET s &7 Sl
PE HRTHE ?

A) GEATST

B) el 3SR

) e Ersae

D) fordlr & oft 78T

Q. 101. Who gave the slogan India is for
Indians?

A) Bhram samaj

B) Praathna samaj
C) Arya samaj

D) Aadi brahm samaj

Q. 102. Which governor general established
CID?

A) Lord Dalhousi
B) William Bentik
C) Lord Curzon
D) Lord Daffrin

Q. 103. When did lord Elenbarrow eliminated
the slavery and through which act?

A) Slavery abolition act V,1843
B) Slavery abolition act VI,1843
C) Slavery abolition actV, 1833
D) Slavery abolition act VI,1833

Q. 104. From which nation does the India
take the concept of joint sitting of Indian
parliament.

A) USA

B) France
C) Austrialia
D) Britian

Q. 105. Who made the satteliite Kalam set ?

A) ISRO

B) DRDO

C) Ariyan

D) Group of students

Q. 106. Rajshekhar was the court poet of
whom?
A) Parmar



B) Chalukya
C) Kalchuri
D) Chandel

Q. 107. What is the rank if India in recently
released Global hunger index report 2018 ?

A) 71
B) 96
C) 103
D) 115

Q. 108. Which session of congress talks about
fundamental rights ?

A) 1930

B) 1931

C) 1932

D) 1933

Q. 109. What is the length of the India’s
longest rail-road bridge bogibil, and which
two places it connected.?

A) 3.94km, Dibrugarh - Dhemaji
B) 4.94km, Dibrugarh - Dhemaji
C) 5.94km, Dhemaji - Lakhimpur
D) 2.94km, Dhemaji - Jorhat

Q. 110. Who send the INSIDUS at Mars?

A) USSR
B) NASA
C) EU

D) ISRO

Q. 111. Commonwealth games 2018 is of
which no?

A) 20
B) 21
C) 22
D) 23

Q. 112. Which part of Indian constitution
provides for the word secular?

A) Preamble
B) Fundamental Rights

C) Directive principal
D) None
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B) 5

C) 6

D) 7

9. 118. FTP ol 911 fordd y
A) Therddl crataae] Setenier
B) IeE Tt eTaict
Q) Qﬂsﬁmm
D) WISel TTEHY HIetehiel

9.119. GSAT-7A &7 W&IquT shgl A fomar a1 ?
A) SgReprer

B) SeehTay
C) HI% (hT IUTAT)
D) FelH gdia

;ngé’%ra:rqmﬂsafrymﬁaﬁé?mm
Il &6-

A) 9Tl

B) Wil

c) dar

D) Wsdr

Q.114. Who discovered visible radiation?
A) Hertz
B) Hershley
C) Neuton
D) Max plank

Q.115. Setu samandaram is related to :
A) connecting gulf of mannar & palk
water strait



B) To build over bridge-flyover at railway
routes

C) Aand b both

D) None of these

Q.116. Where is the nations first handicap
rehabilitation centre get established ?

A) Jabalpur

B) Bhopal

C) Indore

D) Gwalior

Q.117. Which five year plan give the slogan of
Garibi hatao ?

A) 4

B) 5

C) 6

D) 7

Q.118. What is the full form of FTP :
A) Frequency transmission protocol
B) Field transfer protocol
C) File transmit protocol
D) File transfer protocol

Q.119.GSAT-7A was launched at which place?
A) Shriharikota
B) Bengavour
C) Koru (French Guyana)
D) Kalam island

Q.120. Where is the nations first micro
earthquake recoder get established?

A) Bhopal

B) Khargone

C) Reva

D) Khandwa
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0 Write an Essay on one of the following topics in 300 words :-

Role of social media in society

Agrarian crises : Causes & solution

Moral values and todays education

Nature calamity in India : causes & solution
Human value & cinema

Indian women : then & now
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